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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Give any two characteristics of management accounting.

		  à~ÝY boIm§H$Z H$s H$moB© Xmo {deofVm§E| ~VmB¶o&

	 (ii)	 Give the formula of Quick Ratio.

		  Ëd[aV AZwnmV H$m gyÌ ~VmB¶o&

	 (iii)	 What is Gross Working Capital?

		  gH$b H$m¶©erb ny§Or ³¶m h¡?

	 (iv)	 Define cost of Capital.

		  ny§Or bmJV H$mo n[a^m{fV H$s{OE&

	 (v)	 What is balanced capital structure?

		  g§Vw{bV ny§Or g§aMZm ³¶m h¡?

	 (vi)	 What is pay-back period?

		  AXm‘Jr Ad[Y ³¶m h¡?

	 (vii)	What is fund flow analysis?

		  H$mof àdmh {ddaU ³¶m h¡?

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&

2)	 Discuss the objectives of management accounting.

	 à~ÝY boIm§H$Z Ho$ CÔoí¶m| H$s {ddoMZm H$s{OE&
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3)	 Explain the difference between fixed assets and current assets.

	 ñWmB© gån{Îm¶m| Ed§ Mmby gån{Îm¶m| ‘| AÝVa ñnï> H$s{OE&

4)	 XYZ limited has a current ratio of 4.5:1 and a quick ratio of 3:1. 

If its inventory is Rs 72,000 find out its currents assets and 

current liabilties.

	 E³g dmB© OoS> {b{‘Q>oS> H$m Mmby AZwnmV 4.5:1 VWm Ëd[aV AZwnmV 
3:1  h¡& ¶{X BgH$m ñH$ÝY 72,000 é. h¡ Vmo BgH$s gån{Îm¶m± Ed§ Mmby 
Xm{¶Ëd kmV H$s{OE&

5)	 Explain the ABC analysis technique for inventory management.

	 ñH$ÝY à~ÝYZ Ho$ {bE "A" "~" "g" {díbofU VH$ZrH$ H$mo g‘PmB¶o&

6)	 The capital Budget committee of a company is making a 

preliminary screening of capital expenditure proposals. The 

following proposals are under consideration.

	 EH$ H$ånZr H$s ny§OrJV ~OQ> g{‘{V ny§OrJV ì¶¶ àñVmdm| H$s àmapå^H$ 
Om§M H$a ahr h¡& {ZåZ{b{IV àñVmd {dMmamYrZ h¢-

Proposal Investment 
Rs.

Annual Net 
Cash inflows 

after tax 
but before 

depreciation

Life 
in years

Present 
Value Factor 

at 20%

A 31,300 6,000 10 4.192

B 97,400 20,000 20 4.870

C 98,075 25,000 10 4.192

D 27,200 4,000 15 4.675
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	 (A)	� Rank the proposal according to pay-back period. The 

Period of pay-back should not exceed 6 years.	

	 (B)	� Rank the proposals according to the rate of return 

on investment (Discounted Cash Flow method). The 

Company's cut off rate is 20%.

	 (A)�	nwZ^w©JVmZ Ad{Y H$s nÕ{V Ho$ AmYma na {d{^Þ àñVmdm| H$mo H«$‘ 
àXmZ H$s{OE& nwZ^w©JVmZ H$s Ad{Y 6 df© go A{YH$ Zht hmoZr 
Mm{h¶o&

	 (~)	�~Å>o dmbo amoH$‹S> àdmh H$s nÕ{V go {d{Z¶moJ na àË¶m¶ H$s Xa Ho$ 
AmYma na {d{^Þ àñVmdm| H$mo H«$‘~Õ H$s{OE& H$ånZr H$s Ý¶yZV‘ 
àË¶m¶ Xa 20 à{VeV h¡&

7)	 Explain the policy of 'Trading on Equity'.

	 'g‘Vm na ì¶mnma" H$s Zr{V H$mo g‘PmB¶o&

8)	 Explain the concept of 'Cost of Capital'

	 ny§Or bmJV H$s AdYmaUm H$mo g‘PmB¶o&

9)	 Distinguish between cash flow statement and funds flow 

statement.

	 amoH$‹S> àdmh {ddaU VWm H$mof àdmh {ddaU ‘| AÝVa ñnï> H$s{OE&
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	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 What is operating cycle concept of working capital? How will 

you determine the working capital under this method?

	 H$m¶©erb ny§Or H$s n[aMmbZ MH«$ AdYmaUm ³¶m h¡? Bg {d{Y go H$m¶©erb 
ny§Or H$m {ZYm©aU {H$g àH$ma {H$¶m Om¶oJm?

11)	 Explain the various sources and uses of funds in fund flow 

statement.

	 H$mof àdmh {ddaU ‘| H$mof Ho$ {d{^Þ ómoVm| Ed§ Cn¶moJm| H$mo ñnï> H$s{OE&

12)	 Using the following details. Prepare Balance Sheet of Ashoka 

Limited.

	 ZrMo {X¶o J¶o {ddaUm| go AemoH$m {b{‘Q>oS> H$m {MÇ>m ~ZmB¶o
	 (A)	 Current ratio.

		  (Mmby AZwnmV) 2.75
	 (B)	 Acid test ratio

		  (Aåb naI AZwnmV) 2.25
	 (C)	 Working Capital

		  (H$m¶©erb ny§Or) Rs. 3,50,000
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	 (D)	 Reserve & Surplus

		  ([aOd© Ed§ A{Y³¶) Rs. 50,000
	 (E)	 Total current assets-stock, debtors and Cash only

		�  (Hw$b Mmby gån{V¶m±-ñH$ÝY, XoZXma Ed§ ZH$X) in the ratio of 

(AZwnmV ‘|) 2:6:3
	 (F)	 Creditors and Bills payable are in the ratio of 3:2

		  (boZXma Ed§ Xo¶{~b 3:2 Ho$ AZwnmV ‘|)
	 (G)	 Fixed assets are 50% of Share Capital

		  (ñWmB© gån{Îm¶m§ Ae§ny§Or H$s 50 à{VeV h¡)
	 (H)	 The Share Capital is Rs. 6,00,000

		  A§e ny§Or Rs. 6,00,000
		  BgHo$ A{V[aº$ AÝ¶ H$moB© gån{Îm Ed§ Xm{¶Ëd Zht h¡&

13)	 Explain various factors which affect capital structure of a 

concern.

	 EH$ H$ånZr H$s ny§Or g§aMZm H$mo à^m{dV H$aZodmbo {d{^Þ H$maH$m| H$s 
{ddoMZm H$s{OE&


